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Angle Measures and Segment Lengths
12-4
Reteaching
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In the circle shown, 
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What are m(A and m(BFC?
Because 
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 are secants, m(A can be found using Theorem 12-14.
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Because 
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 are chords, m(BFC can be found using Theorem 12-13.
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   So, m(A = 10 and m(BFC = 25.

Exercises
Algebra Find the value of each variable.
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Angle Measures and Segment Lengths
12-4

Reteaching (continued)

Segment Lengths
Here are some examples of different cases of Theorem 12-15.
A. Chords intersecting inside a circle: part • part = part • part
6x = 18                                             
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B. Secants intersecting outside a circle: outside • whole = outside • whole                                                        
x(x + 6) = 2(18 + 2)

x2 + 6x = 40

  x2 + 6x − 40 = 0

  (x + 10)(x − 4) = 0

x = −10 or

C. Tangent and secant intersecting outside a circle: tangent • tangent = outside • whole
x(x) = 4(4 + 5)

x2 = 4(9)
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x2 = 36

x = −6 or
Exercises
Algebra Find the value of each missing variable.
10.                                                11.                                                 12.


13.                                                14.                                                  15.
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